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§ F7-94 1 TG % [679 15 7 F1 T 397 701 &1 79799 1 R qoiE 910,15 79
feral ST TalE d 10.15 751 €10.30 T 9 917 FaeT F99-7 B W oy 39 o7l
SRT7 d FT-GIRawl 7 Fig I 76 7@ |

037-SC 1



(vi)

(vii)

(viit)
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(xifi)

(xiv)

This Question paper comprises 5 sections- A, B, C, D and E. All questions are compulsory.

. yv-F e GUEl AN el T € - o, T W, T ) G g 9 ST €

Section A - Question No. 1 to 20 - all questions are of one mark each. These questions comprises

Multiple Choice Questions (MCQs) and Assertion-Reason type questions. Answer to these questions
should be given in one word or one sentence,

@S - & F T G GET 1 H 20 T Gk T o & §1 57 qe 7 aglamedia 5o aor
;f;—z—gq_mw%ma#wﬁnﬁamwél 7 JAI & ITX1 Ireg S19eT1 e H 12T S
/ :

Section B - Question. No. 21 to 26 are very short answer type questions, carrying 2 marks each.
Answer to these questions should not exceed 30 to 50 words.

@UE - T A T GEA121 26 7% ARG FoHR 5 T E e 2 e & | Feda T97
IH AT 30 T 50 V=51 G 37f4e e gir =ifew

Section C - Question No. 27 to 33 are short answer type questions, carrying 3 marks each. Answer
to these questions should not exceed 50 to 80 words. =~

GUE - 7T H T97 G127 T 33 T TSTIT YR & J97 8 | Jeioh J73 37% %1 & | Fodh F97 ] S
ST 50 G 80 Vsal & 3714k T&T g1 FIfeq

“Section D - Question No. 34 to 36 are long answer type questions carrying 5 marks each. Answer to
* these questions should not exceed 80 to 120 words.

EUT - T8 97 G734 T 36 T%F SS9 GFR & G¥7.61 ik G975 3% FH1 81 Todh J97 7
ST T 80 T 120 Il G 37fan 781 &1 @izl !

Section E~- It consists of 3 source based/case based units of assessment of 4 marks each with sub-parts.

GUE - & & qeiw H1 3 G/ JH ST, 4 STH B I &, 15774 Jedoh 3 STATE |

Answer should be brief and to the point. Also the above mentioned word limit be adhered to as far as
possible. '

mﬁwam@@aﬁmm%?aﬁrmaﬁmwwﬁmwwwawﬁmwa@/

There is no overall choice in the question paper. However, internal choice has been provided in some
questions in some sections. Only one of the choices in such questions have to be attempted.

Tv7-79  guE W HE ey T8 &1 quify §o el § F g 1 Siake aewey KU T E 1 T
7o § Fac7 T & faeheq 1 I [l &g |

In addition to this, separate instructions are given with each question wherever necessary.

5 SR, STEvaFATER, Fe7 & e Faad (159 5 1T &1
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SECTION - A/ @UE - &

Select and write one of the most appropriate option out of the four options given for
each of the questions 1-20.
WH1-20F Wﬁmmwﬁmﬁﬁmmﬁmwmﬂaﬁﬁqﬁm@ﬁaﬁm :

1.

A positively charged particle is moving vertically upwards ina horizontal uniform
magnetic field directed towards north. The particle will be deflected towards.

(a) north
(b) east
(c) south
(d) west

FE SR F01 I 1 AR e fret Aot Trreid & H HEaieR HO AR T
@ T IE Fu frg feen # faaf@ gm?

(a) S .
b |
(©) i
(d) ufE=m

Consider the flow diagram given below :

Metal
1| dilHCl
Y N
Y A
Metallic Salt Gas
Metal | Gas evolved

(i) |Copper yes
(ii) |Silver no
(iii) Zinc yes'
(iv) |Sodium no

Which of the following two combinations are correct ?
(@) (i) and (ii) only '

(b) (ii) and (iii) only

(c) (iii) and (iv) only

(d), (i) and (iv) only

037-SC 3 o '3 '



= feu 7T ya® @ W fI=R Fifsu-

Rl
[—1®Ha]
g | TR SO Bt

(i) | R i

(ii) | fae=R EE

(i) | = | &

(iv) [Sifeam R

R RCTUHFT-A A G T L)

(a) HIA (i) 3R (ii)
(b) hEa (if) SR (i)
(c) had (iii) 3R (iv)
(d) HFA (i) 3R (iv)

3.  Asolution of sodium carbonate has pH around 13. The nature of the solutionis: 1
(a) Strongly acidic
(b) Weakly acidic
(c)  Strongly basic
(d) Weakly basic
Tifeam FEite ¥ T forerdd 1 pH o 13 §1 faee &1 yafa _
(@) Yo A | '
(b) gefT oTdtA
(c) YA &
(d) T SREE
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4. The chemical formula of washing sbda is:

(a) Na,CO;.5H,0

(b) Na,CO;3.7H,O

(c) Nay,CO;.10H,O

(d) NayCO;.12H,0

Yre-grel 1 TEEfTS g3 ® :

(a) Na,CO3 .5H,0

(b) Na,CO5.7H,0

() Nay,CO; 10H,0

(d) NayCO; 12H,0

5.  Whattype of reactionis observed in this beaker.

+— Water

&—— Calcium oxide

(a) Endothermic reaction
(b) Exothermic reaction
(c) Displacement reaction
(d) Precipitation reaction

= g & FFE TR S SArufHar 1 e fHn 1 @ g ?

(d) STasmur AfdfwAT

037-SC ' 5



Which of the following is not the property of the compounds of a homologous
series of carbon compounds ?

(a) they differ by — CH, units
(b) they differ by 14 units by mass
(c). theyall contain double bonds

(d)  they can be represented by a general formula.

Frefefien & & -1 o1 e A e Af # g
(a) T — CH, Tl 1 o 3 ¥

(b) T o Y 14 TR T TR S ¥

(c) = uet H fgemers 2 B

) mﬁﬁwwmﬁaﬁaﬁmmm%

A current of 1A is drawn By é filament of an electric bulb. Number of electrons
passing through a cross-section of the filament in 16 seconds would be :

(Charge on an electron = 1.6 X 10 ~19 coloumb)

(a) 1020
®) 10
(c) 1018
d 102

T forga seet & FRei= (dg) SR 1A i ¥R oft it € | WW@WW
Q16 wve T yared S o) oAl Bt GEAT Bl

(SR | & = 1.6 10~ 19 FHiH)

(a) 1020
(b) 1016
(c) 1018
(d) 10%
037-SC 6
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8.  Which one of the following reactions involves the formation of a yellow coloured
product?

(a) 2KClO;—2KCI+ 302
(b) NH;+HCl >NHCl .
(€) CuSO,+H,S —» CuS+H,30,
(d) Pb(NOy),+2KI —Pbl,+2KNO,
e efufmaet ® @ few afufen § 4ot & o s s § 2
(@) 2KClO;—2KCI+30,
(b) NH,+HCl »NH,Cl
() CuSO,+H,S —»CuS+ H,S0,
(d) Pb(NO,),+2KI - Pbl,+2KNO;,

9. A wire of resistance R is melted and recast to double of its length. The resistance
of the new wire will be:: :

(a) R/4

(b) R/2

(c) 4R

(d) 8R ‘

gfey R%meﬁwwaﬁmﬁwmmw%l QAR
1 e 8R -

(a) R/4

(b) R/2

() 4R

(d) SR

10. Which of the following terms does not represent electrical power in a circuit ?
(a) I2R
(b) IR?
(c) VI .
(d) V%R
ﬁwﬁf&aﬁﬁaﬁq—wwﬁgﬁqﬁwﬁﬁwmﬁﬁﬁﬁaqﬁm ?
(@) IR
(b) IR?
()" VI
(d) VR

037-SC w e M
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11.  An animal is accidently cut into many pieces and each piece grows into a 1
complete organism, the process is known as :

(a)  Binary fission

(b) -Fragmentation‘

(c)  Multiple fission

(d) Regenerafion 4
19 G 5 e 8 e T i s e e 9T o ol <A fer

& SR | T8 AR S el | |

(a) Teavew

(b) @

) TgEws

(d)  ITRI(ASI)

12.  Select the correct options amongst the given organisms which break down the = 1
food material outside the body and then absorb it.

(i) bread mould ; (i) yeast

(iii) algae ‘ (iv) mushroor_n ‘

(@) (i) and (ii)

(b). (i) and (iii)

(c) (i), (ii) and (iii)

d @), () and @iv) - | .

foq T Sitell & | Wet forered st o RITT St 3 gereit wht fersremy SRR 3% s & 9%

< § SR a9 ST oo e B

(i) e Hies (FE) (i) A=
(iti) e (iv) WHREH
(@) ()R (i) |

(b) (i) 3R (iii)

(©) (), (i) 3R (i)

(d) @), (i) 3R (iv)

037-SC



13.

14.

Bronze is an alloy of :
(a) Copperand Zinc
(b) Copperand Silver
(c) Copper and Tin
(d) Copper and Lead

i T AN ©
(a) R AR 5=
(b) W AR foer
(c) IR AR fo
(d) TR I A

In a neuron, name the part where information is acquired.
(d) axon

(b) dendrite

(¢) cellbody -

(d) mnerve ending

T T T I8 W S8l Yo SuTsid = STl ¥

(a) T

(b) EEE

(c) SHREHIHEA -
(d) <ifrem 1 2ifam WM

Self pollination is known as transfer of pollen from stamens to :
(a) Stigma of different flower

(b) Stigma of same flower

(c) Ovary of different flower

(d) Ovary of same flower

TR I GHER A TR, T STl © | |
(a) Tt 709 % Afdwm W |

(b) AR T % AR W

(c) o o1 o ATSREA W

(d) TIH I ¥ STUSHE W

037-SC



16.  The human eye forms the image of an object at its.
(a) Cornea
(b) Iris
(c) Pupil
(d) Retina
TS = S 9 W et og w wlifee s E T -
() I
(b) URaTREHR
(c) gae
(d) ghewa

Q. No. 17 to 20 are Assertion- Reason based questions.

These consist of two statements-Assertion (A) and Reason (R). Answer these questions
by selecting the appropriate option given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are trué, but (R) is not the correct explanation of (A).

(©) (A)is true, but (R) is false. - |

(d) (A)isfalse, but (R) is true.

T WA 17 920 AHAT-HROT STHNG 797 § |

T < o Tt §- e (A) 3R /RO (R) | Frefefod & @ sha ey 51 99 55
3 U%l & SH ST |

(a) S o (A) 3R RO (R) T § 3R FROT (R), FU (A) F T =

(b) SHI FT (A) 3R HRO (R) T €, WA R (R) HU (A) 1 T =0 78 &)

(c) e (A) W& &, Wi HROT (R) Tord B
(d) U (A) Ted B, iR HRVT (R) T R

037-SC -|0Hh -



17.

18.

19.

20.

Assertion (A):

Reason (R):

" s (A) ¢

SHRT (R) ¢

Assertion (A):

Reason (R):

axﬁmvf(A) :

hRUT (R). i

Assertion (A) :

Reason (R):

3R (A) :

T .(R)' :

Assertion (A):

Reason (R):

IfeRe (A) ¢

< (R)

Resins and gums are stored in old Xylem tissue in plants.
Resins and gums facilitate the transport of water molecules.
X iR i Wt 3 o e s A w1

S SIR 7 et 3 STupati o wHere i weel S ¥

Traits like tallness and shortness in pea plants are inherited
independently.

When a tall pea plant (TT) is crossed with a short pea plant (tt)

the progeny of pea plants obtained in the F, generation were
all tall.

w%ﬁ%ﬁﬁa@maﬂwﬁﬁwé@amwwﬁméﬁ
5

o T 3 (TT), S HeX & Wl (tt) & T Fehika HAC
T A F, et § UrE 7 ok diel Bt Hatd § weft 9E o= o)

Decomposition of Silver brormde is used in black and Whlte
photography.

Light prov1des energy for this endothermic reaction. .

TR SRS 3 STIHE T TH-Td HIRIT § STAnT 2 il
|

39 oA Afufran % fere weRTet Sl UeH Al |

A normal human eye can clearly see all the objects beyond
certain distance.

The human eye has the capacity of adjusting the focal length
of eye lens.

@Wwﬁa@ﬁﬁaﬁ@%mwﬂm@aﬁ@wm@
@ ol B |

Wﬁaﬁﬁawﬁmw«qﬁaﬁwﬁﬁﬁmﬁfﬁw@ﬁ%l

037-sc
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21.

22,
23.

24.

'SECTION -B/ @US - @

Find the focal length of a lens of power —2.0 D. Whatty
why ? . '

pe of lens is this and

OR . .

: iect. Whatis
N . s image of an ob]eC :
ame a mirror that can give an erect and enlarged & lications of this

“the position of the object in front of this mirror ? Write two app

mirror also.

S T F WHE G W H o s - 2.0 D ¥ 76 A T H AW T AR

R/ ?

I U T TR AR S i 1 Shten qen srafii gfafe o @k | SO0 S WA 56
T =it fearfa s 82 59 <dor & < swim of e

How is the sex of a child determined in human beings ?

T e R H fef e forg ym A 82

Differentiate between dominant and recessive traits. (any two)

et iR STl e # farive R (1 )

A group of students performed an experiment based on the reactivity of metals
and the gas evolved in the reactions. The experimental set-up used is as shown
in the figure. The metal "X’ is used in the given experimental set-up which evolves
gas Y’ collected in the glassjar. - '

Glass-wool e
soakedin  bojling tube - fl«— Stand
water

(a) Identify the metal ‘X’ and the gas ‘Y’ :
(b)  Write a chemical equation for the reaction involved.
' OR

037-SC . | . 12



Consider the diagram given below and answer the following questions:
Key = o-

e “‘:"’Lﬁ
Cathode . r '¢——— Anode

Acidified copper
sulphate solution

Tank

Impurities

(anode mud)

(a) Identify the composition of anode and the cathode.

(b) Name the process that occurs.

(c)  Write one application of this process.

T W ford wE Y wmgel @ erfufsamierr iR stfufemanedi B Sc= 719 &% SR W
=1 e fen | Wi e st § gl T < R erare & STEnT
W 9Tt wrg X T T g S G Y’ e % SR H T B T T

(a) g X’ SRR Y Y e R
(b) B el ST 1 TR e fafe
atera




ﬁmmmmﬁwmﬁqﬁmwﬁﬁﬁm’

(@) e ol s S dee ) T FR
(b) B ST wfhe B = ffa | '-
() T Wi 1 T Sy e

25. (a) Why do not two magnetic lines of force intersect each other ?

(b) Themagneticfield ina givenregionis uniform. Draw a diagram to represent
it. L
(a) < TEFE & Y@ TF TR H eSS A A FA 2

(b) Waﬁaﬁw,aaw%l 38 frefua = g & o wifaw

“ Improvement in our life-style has resulted in greater amount of waste
generation.” Give two examples to justify this statement. ‘

."msﬂaﬁ—ﬁa?ﬁgmﬁtrﬁmmWﬁwﬁqukgé%r' EL|
e H g & foag 1 e e |

26.

037-SC 14




SECTION - C/@US - T

27. The ﬂc?w of energy between various components of the environment has been
extensively studied. List three findings related to the flow of energy through a

food chain.

m%ﬁfmﬁazaﬁéwﬁaw?—mmmammwl et SRR el
H Soll-aTe | Waiftrd A fFrenefl @ gt e

'28.  Draw a flow chart to show the breakdown of glucose by various pathways.

OR

Name the following :

(a)
(b)

Organisms that cannot make their own food.

Cell organelle which contains the green pigment required for

- photosynthesis.

Cluster of very thin walled blood capillaries ina nephron.
The organ which absorbs water from undigéstéd- food.
Tissue that translocates food and other substances in all parts of the plant.

The fluid similar to the plasma of blood but colourless, containing less

protein.

ﬁfwiqzﬁm@ﬁ%fa@m@@ﬁ%mmaﬁ@@ﬁm

3gAT
frAfafea & ™ fafe
(a) Sfre St ST IS T T S FeRdl |
(b) IR TEH FeRRETerT ki fopar & fere ST &Y Ui ol € |
() gy i wgd WAl fufv arelt SRR Hfvnet 1 T | |
(d) mq%%ﬂm@aawamﬁwa?ﬁwaim. |
(e) urdl % fafir 9l # s qen 31 Wl 1 TRl T el S |
(f) %ﬁﬁﬁm%waﬁw%ﬁ@@?%,wﬁmﬁmm%l

037-SC
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29,

30.

31.

32,

teric oxide ? Justify thq

(a) Why aluminium oxide is considered §S an ?rtﬁgl;gai HoEE: 3

statement by writing chemical equations o
(b) Name any other amphoteric oxide. ‘ 5 & 3 3
(@) TS F) Iyl sifagree 4 7 ST © afsha

T T ferar o o gfe IS |
ORI RIE S ETS S —— fafa |

3

. i ions.
Write the balanced chemical equation for the following reacti

(a) Burning of natural gas.
(b) Heating of iron sulphate crystal.
(©)  Reaction of zinc with copper sulphate solution.

ﬁmﬁ@awﬂmﬁ%mmmm:
(@) WHTw 9 w5 ey

are placed at 1.5 m
(a) Name the defect Naman is suffering from., .
(b)  List two causes of the defect and Suggest a method of itg correction.

mﬁwaﬁraﬁeﬁﬁwﬁé@w%m1.5m§ﬁmﬁaaaﬁaﬁﬁwé@

(b) maﬁn%amaﬁiﬁﬁmaﬂiﬁwﬁaﬁ%mmml

Give reason for the following : ‘ 3
(a)  The muscular walls of ventricles are thicker than the walls of atria.

(b)  Arteries have thick elastic wa]ls, |

(c) Veins have valves,

%%WWW:

(a) w%zaﬂfwﬁrﬁaﬁmﬁmaﬁﬁ?ﬁaﬁrﬁrwaﬁ%,
(b) wﬁa‘fﬁf#ﬁnﬂaﬁwmﬁaﬁ%l

(©)  Rwet & oreg 2 8,

037-SC = 96 = R T



33.

Thfi filagram S.hO}'VS a coil of insulated copper wire wound on a cylinder having a
50.1 'lrotrllche ms.lde ‘formmg an electromagnet. A current is passed through the
coil in the direction indicated by the arrows and polarity of the electromagnetis

- marked using the compass needle. Let the polarity at ‘P’ is south (5) and at’Q)’, it

is north (N).
Coil \
R e
- y Call KtyJ\{(} Soft.iran.bar e b g

—(-0-(-)-

(a) What will be the pattern of magnetic field lines inside the coil ?

State the conclusion that can be drawn about the magnetic field produced
in this case. '

(b) State with reason in each case what will happen when the

(i)  terminals of the battery are reversed ?

(ii) number of turns in,the coil are increased ?
e & e 3 w9 g 17 ¥ ) e S, o ofie e we W
mﬁmwmw%l'_mw@ﬁﬁwmmﬁﬁﬁwﬁ YR FaTied
O TR B Wﬁwﬁﬁgﬂwﬁ gt e i T B 1 HE T
fa’{’P’ma’rmga(S)sﬂt’Q'-mwga(N)%l- | |

FHeddl

N A
JRRERARAENLS

. I (K)y T e R o3

() THFUSEH o Sf T o st =1 St T 2 R e 4 %
e 3 TS ST o FreRd % SeE |

(b) Wmmwﬁﬁ@ﬁm%wmw
) St 3 <fHel 1 Iohfd TRl ST § 2
(i) Wﬁﬁaﬁa@rﬁq@aﬁmﬁ%?

037-SC ' 17



SECTION - D /&g - ¥

34.  Amit’s mother used an organic compound ‘A’ ag a preservative in pickles with a

molecular formula C,H,0,. This compound reacts with compound ‘B’ which is
constituent of alcoholic drink, to form a sweet smelling compound ‘C’.

(@)  Write the name and chemical formula of the compound ‘A’. Write the

chemical equation for its reaction with compound ‘B’ to form compound
L g ‘

(b) How can we get compound ‘B’ from ‘C’ ? Name the process and write
corresponding chemical equation,

(¢)  Which gasis produced when compound ‘A’ reacts with baking soda ? Write

(a)  Both soap and detergents are salts of len

(b)  Write the mechanism of cleansing action of soaps.

(c)  Why instead of soaps, detergents are preferred where water is hard ?
mﬁmﬁ%wgmo’z & Tt el i < A7 357 s STRI < qiegor
& ferg foa T8 AT el e < g a‘rﬁ?ﬁﬁa}ﬁaweﬁwm%ﬁ g
AT 2% g ey By iy ST & |

(a) W’A'mwﬁzmwmlmﬁ,ﬁﬁm'e%mawﬂmw
WWWWW’C’W%I

(b) wﬁﬁm'C’ﬁiﬁﬁm'B'ﬁmmmmm%l T UlsHAT &1 A qogy
mwmﬂmﬁf@m |

©) mmfA'mwawmm%,aeﬁvamaaﬁ?
mzrﬁ;sﬁtﬁ"ﬂwﬁlf@ql




35. An old man is advised by his doctor to take less sugar in his diet.

(a) Namfe the disea§e from which the man is suffering. Name the hormone
that is responsible for the disease. Which gland/organ secretes this
hormone?

(b) Name the endocrine gland which secretes growth hormone. What will be

- the effects of deficiency of growth hormone in childhood and excess
secretion of growth hormone in an adult ?

() ~ Why is the use of iodised salt advisable ? Name the disease caused due to
the deficiency of iodine in our diet and state its one symptom.

OR

(@) Listthree plant hormoneé and write one function of each.

(b)  Define reflex action. State its significance.

T IR g5 =Af® Hl ST i1 T o Y SR G S &

(a) =at® o SRR | difed ], SHR M ST | 39 W 6 fore STerl sH i =

- 1 fafaw) = gmiE few tftwesin g enfad B § 2
(b) =W ia:&mE Uty w1 W fafey S g g Enfad il 3 | ST § gfg T
1 HHI Tol Tk Al | Iig SHIA i STkl 1 A1 G B 2
(c) STEEIG® A o TAN oh! WS i &l Sl & 2 TR HISH H STRISH i ]
{2 9Tl AT T A 3R ST Teh A&7 fafau |
AYAT
(a) Teredl i TR e i Yol ST 3R Yol <l Tk - fefa |
(b) Wik e el aRfod s 3R SHeh HE hl 9qEy |
037-SC |
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36. (a) Whatis refraction of Iigﬁt ?

(b)  What are the laws of refraction of light ?

(c)  If therefractive index of water is 4/3 and that of glass is 3/2, what will be
the refractive index of glass with respect to water ?

OR

(a) A concave lens has focal length of 15 cm. At what distance should the
object from the lens be placed so that it forms an image at 10 cm from the
lens ? ‘ '

(b)  Find the magnification produced by thelens.

(¢)  What s the nature and size of the image ? |

(@) ¥PRIH STEHRA R F@E? o

(b) TR Y F A FME? -

(c) I 1 Yueriich 4,/3 1R i<l o1 ST 3/2 ¥ a e &7 STqSiFH T

- HIUE BT ? |
AT

(2) forelt srarer e 1 wiee G 15 cm ¥ 1 foie B o @ forartt o W for v
S o 1 &9 @ 10 cm g0 W wfiafsis 5 2 ‘

(b) < BRI = SYEeE 9@ T

(c) fkifsiel =t wepfir eiix emrepre (wesT) M E?
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SECTION-E /@Us - &
Read the case carefully and answer the questions that follow :

The teacher while conducting practicals in the laboratory divided the students
into three groups and gave them various solutions to find out their pH and also

change in colour with red and blue litmus to classify them into acidic, basic and
neutral solutions.

Group A- Lemon juice, Vinegar, Orange juice
Group B- Tomato juice, Curd (sour milk), Tamarind water
Group C- Sodium hydroxide, Lime water and Sodium chloride.

Answer the following questions:

(a)  For the solutions provided which group or groups is/ are likely to have pH
value (i) less than 7 and (ii) 7 or more than 7. :

(b) Which solutions would change the colour of red litmus to blue? Name
' them.

(c) Explain, why we use toothpaste for cleaning our teeth ?
- OR

(c) Thereisastudentina class whois visually impaired. Which type of acid-
base indicator will be used by that student and why ?
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38.  All the reproductive methods of living organisms arii(():i €6 i
types: (i) Asexual reproduction and (ii) Sexual reproduction.
| nisms of its own kind_
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In Asexual reproduction single parent produces 24 ringun der favourable

This method is a common means of rapidly increasing offsp .
a0 i arents with th
conditions. While sexual reproduction involves both the p e

- . . ic material.
formation of gametes, fertilisation and transfer of genetic m

Answer the following questions :
(a)  Name the type of fission that occurs in amoeba and plasmodium.
(b) Name the organisms which reproduce by spore form_aﬁon-

(c) Thegiven diagram represents the structure of a flower.

Name the parts of flower labelled as ‘A’ and ‘C’. What happens to part‘C’ of the
flower after fertilization ? .- '

OR
In human female reproductive system name the part:
(i)  which produces an egg
(i) where fertilisatioh takes place
(iii) where development of embryo takes place.

(iv) which is the site of implantation of zygote after division.
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39. While performing an experiment in a laboratory, a student took two conductors 4
A and B of resistances 5 {) and 10 () respectively. He connected them first in
parallel and then in series combinations. In each case the voltage applied is 20 V.
Answer the following questions.

(a) Draw the circuit diagram to show connection where conductors A and B
arejoined in series. -

(b) In which combination of conductors will the potential difference across
the conductors A and B be the same?

(c) Inwhich combination of conductors will the current through A and B be
the same? Find the equivalent resistance of this combination.

OR |

(c) If thestudenthas three conductors A, B and C of resistances 5 €2, 10 Q) and
20 ). What would be the equivalent resistance if the student connects
them in parallel combination.
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